01.12.20
L.I. I am learning the order of operations (BODMAS)

1) Calculate
a) 8 + 24 ÷ 4 = TYPE HERE	
b) 7 + 63 ÷ 9 = TYPE HERE		
c) 5 + 21 ÷ 7 = TYPE HERE	

2) Put in the signs and/or brackets to make the following true:
a) 2  ?  2  ?  4 = 8
b) 10  ?  3  ?  5 = 35
c) 2  ?  4  ?  6 = 1

3) Calculate
a) 63 ÷ (17 – 8) = TYPE HERE		
b) 4 + 5 x 9 = TYPE HERE	
c) 8 + 8 x 8 = TYPE HERE
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CHALLENGE
Put the correct sign (<,> or =) into the statements below. You will have to work out the calculations first, remembering BODMAS 
a) 2 x 32 + 46     TYPE HERE         62 + 4 x 9
b) 8 + 8 x 6      TYPE HERE           6 + 8 x 8

